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Answers

1. 3,645

2. 370

3. 920

4. 8,820

5. 8,460

6. 2,553

7. 6,570

8. 5,589

9. 1,682

10. 5,544

11. 4,230

12. 780

Use lattice multiplication to solve each problem.

1)
81 × 45 =

8 1

4

5

3 0

4 0

4 5

2 4

0

3

6 5

2)
37 × 10 =

3 7

1

0

0 0

0 0

7 0

3 7

0

0

3 0

3)
23 × 40 =

2 3

4

0

0 1

0 0

2 0

8 2

0

0

9 0

4)
90 × 98 =

9 0

9

8

8 0

7 0

2 0

1 0

2

8

8 0

5)
94 × 90 =

9 4

9

0

8 3

0 0

6 0

1 6

0

8

4 0

6)
37 × 69 =

3 7

6

9

1 4

2 6

5 3

8 2

7

2

5 3

7)
73 × 90 =

7 3

9

0

6 2

0 0

7 0

3 7

0

6

5 0

8)
81 × 69 =

8 1

6

9

4 0

7 0

8 9

8 6

2

5

5 9

9)
58 × 29 =

5 8

2

9

1 1

4 7

8 2

0 6

5

1

6 2

10)
88 × 63 =

8 8

6

3

4 4

2 2

4 4

8 8

4

5

5 4

11)
45 × 94 =

4 5

9

4

3 4

1 2

3 0

6 5

6

4

2 0

12)
52 × 15 =

5 2

1

5

0 0

2 1

8 0

5 2

5

0

7 0
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